NSRNA

PLAYGROUNDS

designed for sustainable and creative play

LE20523U

LE20523

A

N
—
[$)]
o

EN1176}

e

I

i
SMART

ROBINIA

PRE-DRILLED
SYSTEM

VA

FSC

www.fsc.org
FSC* C105341

30-09-2019/



LE20523U

LE20523

(1:50)

237 ‘ 2800 ‘
MAX cm ‘
- i:———g ° & ° Q
NN o d
4

o ® )//fMAng
N
S H U S |
o o
) 1

(1:50)

1900

4104

1900

23,5m?

6600

~N
>
4.5h ~0,07 n? 204x119x2,1cm  65kg
NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Breedstrup * Phone +45 7575 4199 « mail@norna-playgrounds ¢ norna-playgrounds.com )

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



RS00358
\
5
og
LE15064
LE15116
Parts List
QTY PART NO DESCRIP.
1 D11566 @120-140x2800mm, assembled
1 D11568 Taifun rope, assembled
1 LE15064 2040 x 1190 x 21 mm
2 LE15116 L: 600mm
2 RS00358 3160-180x2800mm

LE20523U

LE20523

D11566

Il D11568




LE20523U
LE20523

iy
K
iy
Kﬂ:
, 800

\\\\#19

2100
2400
4500



LE20523U

LE20523

LE12110

LE16558

Parts List
QTY PART NO DESCRIP.
2 LE15254 M16x250mm
2 LE16100 M16 nut
8 LE16152 M16 - @30 mm
4 LE16556 @42/38mm
2 LE16558 J48/44,5mm
1 LE12110 Spanner

LE16556

N

LE16100

LE15254
LE16152
LE16152
M
:( Yo
|
[ o NORNA 100g
| 0 Lubricating paste
(LE16604)
| B
L — — — — —



LE16041
LE15050
LE16191
LE16083
Parts List
QTY PART NO DESCRIP.

10 LE15050 Climbing stone kids
2 LE15108 &38x40mm
2 LE15116 L: 600mm
2 LE15250 M16x170 mm
10 LE16041 M10 fitting climb. stone
2 LE16054 M10 cap nut
2 LE16060 M16 cap nut
10 LE16083 M10x35
2 LE16084 10x40mm
8 LE16152 M16 - @30 mm
4 LE16156 M10-@20
10 LE16191 4x30mm
4 LE16556 @42/38mm

LE20523U

LE20523

LE16152
LE15108

LE16152

LE16556
LE16060

LE15116

LE16054

LE16156

LE16156
LE16084



LE16192

Parts List
QTY PART NO DESCRIP.
1 LE13100 Shackle
2 LE15901 3x16, PH
1 LE15910 Name tag
1 LE16192 5x80mm
1 LE16502 Spacer 6mm

LE20523U

LE20523 @

LE13100

LE16601

LE15910

LE15901




